Quantitation Report (QT Reviewed)

Data Path : Z:\svoasrv\HPCHEM1\BNA_F\Data\BF101421\
Data File : BF125844.D

Acqg On : 14 Oct 2021 14:55
Operator : JU/CG

Sample : M4041-03

Misc :

ALS vial : 7 Sample Multiplier: 1

Quant Time: Oct 15 10:38:55 2021

Quant Method : Z:\SVOASRV\HPCHEM1\BNA_F\METHODS\8270-BF100721.M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

QLast Update : Thu Oct 14 12:29:41 2021

Response via : Initial Calibration

Compound R.T. QIon Response Conc Units Dev(Min)

Internal Standards

1) 1,4-Dichlorobenzene-d4 6.834 152 179672 20.00 ng -0.01
21) Naphthalene-d8 8.116 136 736625 20.00 ng #-0.01
39) Acenaphthene-di10 9.863 164 383945 20.00 ng -0.02
64) Phenanthrene-d10 11.345 188 659478 20.00 ng #-0.02
76) Chrysene-di12 13.980 240 410785 20.00 ng -0.02
86) Perylene-di12 15.433 264 406089 20.00 ng -0.02

System Monitoring Compounds

5) 2-Fluorophenol 5.451 112 552088 50.20 ng -0.01

7) Phenol-dé6 6.457 99 1196411 84.50 ng -0.02
23) Nitrobenzene-d5 7.392 82 854009 72.07 ng -0.02
42) 2,4,6-Tribromophenol 10.651 330 68805 18.15 ng -0.02
45) 2-Fluorobiphenyl 9.192 172 1655332 74.36 ng -0.01
79) Terphenyl-di4 12.933 244 1575902 58.44 ng -0.01

Target Compounds Qvalue
74) Di-n-butylphthalate 11.910 149 112757 3.11 ng 99
80) Butylbenzylphthalate 13.416 149 1822937 136.28 ng 92
84) Bis(2-ethylhexyl)phtha... 13.969 149 328136 22.54 ng # 99

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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